70°

70°




6.34 =6+ 0.3+ 0.04

3.72 = |+ |+ |

® 3,7,2 ® 3,0.7,0.2 ® 3,0.7,0.02

® 30,7,0.2 ® 30,0.07,0.02



@ 0.007,0.009 @ 0.0065,0.0085 ® 0.07,0.09

@ 0.0065.0.008 3 0.007,0.0085



D w33 0010] 189

100
250k 4 e 50l

Qe



S Zo| A AL AT} 7 2 AL o] 71017 LA L

@® 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98

@ 5.61+1.907 ® 6.75+1.98
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7. [ ot gure e utEA ek gk 12,

(1) 3.6km +2607m = ]km
(2) 2130m + 0.49km =] |km

@ (1) 6.217 (2) 2.52 @ (1) 6.217 (2) 2.62
@ (1) 6.207 (2) 2.52 @ (1) 6.207 (2) 2.61

® (1) 6.207 (2) 2.62



(1) 28cm = Dm
(2)6m75cm = Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @ (1) 0.28 (2) 6.75

® (1) 2.8 (2) 0.675
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